AnroMmMHMM

B5 B14
n, i P Mg el B ¢ D E F|O P Q R T U V ﬂ
[min] [KW] [N]m kW] | [Nm] ﬁﬁ 100r RD
63 71 80 90 0|56 63 71 80 90 199 132 Koa nepep.

502A n;= 1400 min™
388 | 3.61 | 55/130] 12| 63 | 150 |28/30/35 B 96 | 3018
331 | 423 55 152 14 641 | 170 |28/30/35 B 96 | 3016
279 | 5.01 55 180 1.4 6.1 | 200 28/30/35 B 96 | o4
231 | 6.07 55 219 141 63 | 250 28/30/35 B 96 | 3012
206 | 6.81 55 245 12 67 | 300 28/30/35 B 96 | 2018
176 | 7.96 |55 287 12 63 | 330 |28/30/35 B 96 | 2016
148 | 9.45 55 340 1.0 57 | 354 |28/30/35 B 96 | 2014 @
122 | 1143 4 299 11 44 | 326 |28/30/35 B 96 | 2012
99 1421 3 279 09| 27 | 250 28/30/35 B 96 | 2010
84 | 16.62 3 327 14| 3.3 | 354 28/30/35 B 96 | 1314
70 2010 22 290 14 | 25 | 326 28/30/35 B 96 1312
57 | 2461 22 354 09| 20 | 326 28/30/35 B 96 | 1112
56 | 24.98 1.5 245 1.0 | 1.5 | 250 28/30/35 B 96 130
476 2941 15 289 12 1.8 | 354 28/30/35 B 96 814
39.3 3558 1.5 349 09 1.4 | 326 28/30/35 B 96 | s12
346 | 40.50 1.1 292 1.0 | 1.1 | 295 28/30/35 B 96 | o4
317 4423 11 319 0.8  0.86 | 250 28/30/35 B 96 | 810
28.6  49.00 1.1 353 09 1.0 | 326 28/30/35 B 96 | 612
23.0 | 60.90 075 299 0.8  0.63 | 250 28/30/35 B 610

503A n;= 1400 min™
352 3079 1.1 |278] 13| 15 | 373 |28/30i35 | B clc 93 | 191316
296 47.22 11 330 14 1.2 | 354 |28/30/35 | B cl|lc 93 | 191314
256 5473 1.1 382 09 1.0 | 354 28/30/35 | B cl|lc 93 | 171314 @
211 6622 075 315 1.0  0.78 326 28/30/35 | B cl|lc 93 | 171312
18.3 | 76.69 0.75 365 1.0 073 | 354 28/30/35 | B cl|lc 93 | 131314 @
16.7 | 83.59 0.55 292 | 12 067 | 354 28/30/35 | B cl|lc 93 | 100814
151 | 92.78 0.55 | 324 10 055 326 28/30/35 | B cl|lc 93 | 131312
13.4 104.67 0.55 365 10 053 | 354 28/30/35 | B cl|lc 93 | 101314 @
11.9 117.22 037 | 275 12 044 | 326 28/30/35 | B cl|lc 93 | 170812
111 126.65 0.37 | 297 | 1.1 041 | 326 28/30/35 | B cl|lc 93 | 101312
10.2 136.62 0.37 | 321 | 1.1 041 | 354 28/30/35 | B cl|lc 93 | o3ta @
85 (165.20 0.25 262 12  0.31 @ 326 28/30/35 | B cl|lc 93 | o312
78 |180.40 025 286 12  0.31 @ 354 28/30/35 | B cl|lc 93 | 71314 @
6.4 (218.26 025 346 09 024 326 28/30/35 | B cl|lc 93 | 71312
58 (241.82 025 384 09 023 354 28/30/35 | B cl|lc 93 | oosta @
48 29257 018 334 10 018 326 28/30/35 | B cl|lc 93 | o081
44 319.32 018 365 1.0 017 @ 354 28/30/35 | B cl|lc 93 | 70814
36 (386.33 0.18 441 07 0.3 326 28/30/35 | B cl|lc 93 | 70812 @
29 |480.16 0.18 548 05 0.08 250 28/30/35 | B cl|lc 93 | 70810

B MoHTaxHoM noanummn P MoTopHbI onaHel, B5 moxeT He cooTBeTcTBOBaTL paamepam. [poBepbTe pa3Mepbl 1 N0 BO3MOXHOCTU UCNONb3yiTe dnaHel B14.

In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.

Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.

Lors d'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.

En el montaje P la brida puede exceder de les dimensiones m6ximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

B.C Bo3MOXHble MOTOPHbIe dhnaHLbl B MOHTUpYIOTCS C NPOCTaBKOW @ © Monoxexue OTBEPCTU/ MOTOPHOTO @
AZRE

Motor flange available Coupling by means of reduction bushing ﬁg?o’ﬁzggg%gnﬁﬁal box position




902A PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

502A | 503A

[ X 5.3 15 Macca (kr) ¢ conaHuem
Macca (kr) c nanamm

107
15.5 MoTopHblit pnaHel B14 #3123 N°5 - M10x18 0 67
60 | 1
N M12x20

503A

4 =7<§

8 — = d =)
P502A-N E fH ="M« J St A=
P503A-N s H= g e

o @10 —~L
M10x22 GS\J 24

| 51 119
Detail Y i ki { BbixoaHon donaHeu / Output flange
‘ al@| b1| el] c1| f1 s1
) 160 | 110 | 130 | 14 | 35 | o
b
P502A_F e — = 200 | 130 [ 165 | 13 | a5 [ 11
P503A F ©| ﬁ - —— 250 180 | 215 | 155 4 14
- J
- - @BbixoaHow Ban| Crauaapt | o s0x60
Detail Y 25 o 57—5. ‘—l f11 @ Output shaft [nosanpocy| 2 28x60 @ 35%60
. c
@30h6(Cranaapr) '
. 220.3 6 502A 228.5 s 503A

. 40 T 30 2.5

8 6
R502A-N ] i = E
6

[&)]

R503A-N

2106 h8

.h

I

|

1
[T

i
2106 h8

.h

I

|

1
[T

|

-
Z@24h6

Tun 502A (MoTopHble dhnaHLbl)

A Mol A | B [Cmax| g6 | k1
B 80 B14] 226 207.3 | 120 |228.5
60 90 B14] 226 217.3 | 140 |2285
5 | 50 e | 237 Jor 5l 2273 | 160 [213.2
8 —— 71B5 | 226 7| 227.3 | 160 | 2285
P502A.... == UL o] = 80/90 BY 228 247.3 | 200 [230.5
*é* — = —’F o g ha s | 2 272.3 | 250 | 2365
P503A.... e ZJ ] o T 132 B14] 2555] 216 | 247 | 200 [264
8 § . [ Tun 503A (MoTOpHbIE hnaHLbl)
M10x22 HH i | H—+ HH HH Ml;,’;zﬁz:',e A | B |Cmax| g6 k1
G a1 o R 71 B14] 234.5 2095 | 105 | 237
L o S 80 B14] 235.5 217 | 120 | 238
90 B14] 236.5 216 227 | 140 | 239
63 B5 | 236.5 227 140 | 239
71B5 | 2345 237 160 | 237
Bo3moxHble pa3mepsbl nan / Available feet dimensions 80/90 B 236.5 257 | 200 | 239
oioronce nams |  |H | R | L | S |H1l0j@l] o7 |52 E> Bbi HaliaeTe koAbl B TaGnuUax
302/3 18 [ 110 [ 160 [ 130 | 190 [211.5[ 20 | 11 {10 5011105 HaNPOTUB HY>XXHBIX pasMepos
30/35 20 | 130 | 180 | 1495 | 216 [231.5[ 18 | 14
47 .57 30 [115 | 135 | 165 | 170 [216.5| 24 13,55 sopm12ms
023-233] H3 | 30 [130 | 135 | 135 | 185 |231.5| 25 | 14 Checking the main dimensions
06 L6 | 19 | 125 | 160 | 106 | 205 |2265| 8 | 14 (G-H-R-L) you will find
2023 | E2 | 13 |100 | 135 | 192 | 164 |2015| 6 | 14 80/90 B5 the codes (S1-B1 -etc.)
523 || a0 [ 110 [135-150] 100 [ 190 [211.5] 18 [ 11 [10 001166 of your need
142 P4 | 35 | 142 | 130 145 | 160 |243.5( 8 | 14 -Ham60nee nonynsipHble TUMbI
4100-05G] J3 | 25 | 100 | 150 90 | 180 [201.5| 8 | 14 |20 0011285 Most popular types




